
www.bbcnoun.com.ng 
CIT208 10/10

JDBC stands for
Java Database Connectivity

Which of the following options is NOT a database object?
Record

When filtering records from database using SQL, which of the following options is NOT 
a valid operator?
Approximate

The following options are classifications of functional dependency EXCEPT:
Associative functional dependency

Which of the following options is NOT an implementation or driver supported by JDBC?
Internet Protocol Driver

The following options describe the classification of database according to their 
organisational approach EXCEPT:
Demand driven database

Which of the following options is true about Data Control Language (DCL)?
Give or remove access rights to both a database and the structures within

Transaction control manages the changes made by __________________?
DML statements

Which of the following options is true about Data Manipulation Language (DML)?
Retrieves data from the database

Which type of information systems is used to make difficult decisions when not every 
relevant parameter is known beforehand?
Decision Support Systems
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